Footing Size

Deck Lavout

Locate footings, beams, overhangs & dimension
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Tributary load

Tributary area x total load= tributary load

d=diameter in inches
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Use this formula for tube forms, Le. Sonotubes® A
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Footing Area In? =inches squared
Tributary load + Soil bearing=Load PSF x 144(change to square inches) = Area in In2
Corner footing
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Round footings r-3.1416 Square footings
2xvarea + m = diameter of footing varea = length of each side
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Footing thickness?

(Diameter or length - post width)+2= thickness

(in inches)

( - )+2= inches
Note: Footings may not be less than 8” thick

2Footing thickness formula from American Wood Council.
Prescriptive Residential Wood Deck Construction Guide, 2015.
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